IR K- b4 Ko
& be Wl &2 &

EABKSGHEEF A4S (2021] 01 5

RTFERRNFE-FFIP RN FR S ZE
FH S 2021-2022 ARG R AR

RENF. AE. AFHEN, 2592, @HAF. @
RERY, AXPHERFEAFTER, RAWT T ERAF-F
FMBEARFREFHEZF AL 2021-2022 FEHFER,
Wi nrim T (H4FaxE):



1. ZE5EE4

4 YLK R %
i) 20 2% EE02 3t T#
plE=b 21 4 UCO1 3 T
ZRE 21 2K UC02 ¥t T=
2. VE LB
4 YLK R %-
e X 21 4% UC03 BE T=
E R 21 2 UCO1 3 T=
B ik 21 2% UCO3 3£ T=
3. PR H (R
A4 YER R4
R 21 2R UCO3 3k T#
Z KM 21 2R UCOL 31 T=
x| & 77 21 R UCOL 3t T#




4. X R

W4 ¥ 2% R 4%
B 20 2% EEO01 3t T=
TR 21 % UCO3 Bt T=
R 21 % UC04 3t T=

5. BT ARG

W4 ¥ 2% R 4%
VE[S 21 % UC04 3E =
ARl 21 4% UC02 31 F=
TrE 21 2 UC04 3£ T=
x| 5 #H 21 % UCO1 Bt T=
5K 8 T 21 % UCO1 Bt T=
JE K 3 21 % UC04 3t T=
¥ 4% 3 21 % UCO3 Bt T=

6. F 1% 9

e ¥ 2% B 4%

7K 28 & 21 22 UCO3 3E T=




ARk 21 2% UC03 3E F=
= MG A2 20 X MEO1 3 T=

7. 21
W4 PR B %
JE 2= 0 AT 21 2% UCO3 3E T=
R H 21 % UC04 3 T=
7k ¥ & 21 2% UCO2 3E T=
Ty 21 4% UCO01 BF T=
FEER 21 % UC04 3t T=
B 1 21 % UCO3 3t T=
& 21 % UCO2 3F F=
F 55 FH 21 % UC02 ¥F T=
B 20 4% MEO1 BT T=

8. & £
W4 PR B %
F K 20 & MEO2 3£ T=
B R 21 % UCO1 Bt T=




J& 5= 21 2. UCO3 3kE T=
PR 21 R UC04 BE T=
x| B 21 4R UCO3 3 T=
THER 21 R UC04 BE T=
BB 21 4 UC04 3k T=
P I B 21 2 UC04 3 T=
KT 21 % UCO3 3k T=
F X BR 21 % UCO3 3k T=
FHFEERANS

W4 HER R 45
LA 21 4R UCO02 3 T=
Wz %R 21 2 UC04 3E T=
T ke 21 2 UCO3 3k T
R F UL 21 2R UCO2 BE F=
R B 20 % MEO1 3 T=
ES ¥ 21 4 UC02 31 F=
AR Fk 21 4 UCO03 3E T=




10 WHEEFE RS

iE2 YLK B 4%
AR 21 4R UC04 3 T=
THEA 21 R UC04 BE FT=
FHE 21 2R UCO4 31 T=
5K TG 21 2. UCO1 3k T=
5 & 21 2 UC04 3E T=
5 21 % UCO02 3E T=
FFA 21 % UCO2 3k T=
HAE(E 21 22 UC04 3k T=
1L FARFEA D2
W4 iR R %
THER 21 2R UC04 BE FT=
THEW 21 4 UCO1 3T T=
HETE 21 2 UC03 3£ T=
CER ] 21 2 UC04 3£ T=
X 8 XX 21 2 UC03 3k T=




12. F A B L AR 2

24 PER B 4%
Z 4% 20 % BEO1 3 T=
T A 20 2% ME02 BE =
AR 21 2R UC04 3 T=
R 21 4 UCO3 3K T#
KT 21 2R UCO3 31 =
R %R 21 4 UC03 3F T=
13, # R A
4 PER B 4
5 [ 21 2R UCO2 3 T=
A R B 21 2 UC04 3E T=
ZH 21 2 UC02 BE T=
J& 2 i 5 21 2 UC03 31 T=
ES 21 2 UC03 3£ T=
x| 5 21 4R UCO1 BE T=
T 21 22 UC04 3k T=




FE 21 2% UCO1 ¥ T=

B F 5] 21 4% UC04 BE T=
4% R 21 2 UC01 3t T=

NTHEA K 2021 4510 F 18 HZ 2021 4210 A 20 H, £ =
R, wHFY, FREEFESHB A T
#6: jei.mscqq. com, KAMA —NH, BEMEBHFERX
A .

A FRERAKRF-FF AR

ERAF-FFE N RS STEF 4 &
B -l
ﬂiﬁ’%ﬁ%‘*ﬁﬂbﬁ,@éa

(BRZAA: kTA  BEWE: 023—65678709)



